Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 111  EXAMINATION - WINTER - 2016

Subject Code:3330102 Date: 19- 11- 2016
Subject Name: Mechanisms For Machines And Aircrafts
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. gaHiell QSQQL Alcloll wallol UL 14
1. Define Kinetics and Dynamics.
L sladlsd wal slaualmsy ofl calvul .
2. Define Kinematic Link and Kinematic Chain.
2. s8anRs (s U s18ANRs Actoll cartvaul L.
3. What do you mean by Mechanism and Inversion .
3. [M3EoH Ua FoAdel WA 9J?
4, Define Kinematic Pair and give one example.
¥, s8anRs WR ofl cautvul AW WA Aol BELSWL %A,
5. Define Cam and Follower.
W SH el AR ofl caltuaal L.
6. Define Aileron and Elevator.

s.  AAAeR wa AARNe of| cautvayl 2.

7. Give relation between linear and angular motion for velocity and
acceleration.

9. AAR(E AR AsAcR A HR (Ao{lUR WA Wodyet? Hl2lot AR
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Aol el
8. Define Flywheel and Governor.
¢.  SAlARH U 20 AeilRell catvarl vl
9. Define Clutch and Brake.
¢.  SAU el A5 ofl cautval WL

10. What s Velocity Ratio?

0. AARAZ] w{=A AeA g ?

Q.2 (a) Differentiate: Mechanism and Machine. 03
us.2 (1) 33U wal Hellot R dgleld AUl 03
OR
(a) Differentiate: Structure and Machine. 03
() w5A W Hlol A dglalct UM 03
(b)  Explain Single Slider Crank Mechanism. 03
() RbLA USSR 305 MFellain (@A Ul 03
OR
(b)  Give Classification of Kinematic chain. 03
(@)  slaAARs Aote] ao(ls0L 2. 03
(c)  Explain Inversion of Single Slider crank chain. 04
(5) RO USSR Bose] o ddel AHBLAL. 0¥
OR
(c) Give classification of Constraint motion. 04
(5) Sogoe Hlalole] ao((520L 3. 0¥

(d) In a four bar chain ABCD, AD is fixed link. Crank AB rotates in clock wise 04
direction at an angular velocity of 10 rad /sec. Link AB=60 mm, BC=CD =70
mm, DA =120 mm.When angle DAB = 60° and points B and D on one side of
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Q.3

UA. 3

(S)

(d)
(S)

(a)

(W)

(a)
(A1)
(b)

(A1)
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the link AD, find angular velocity of link BC and CD.

A5 S1R-0lR ALl ABCD HL AD As AR [As B. (As AB 10 rad/sec

Il uslaunetl stéatl ofl (i 52 B. [@Ascll douss w1 YHIA B: AB=

60 mm, BC = CD = 70 mm, DA = 120 mm. %2 WRU DAB = 60°

8lal Wl B el C BsAl ([As AD ol Ws oy 8lal AR BC el CD

oAl slellat Aot 2.

OR

Give Classification of Power Transmission.

R gleMelete] aollswl 3.

Draw simple Gear Drive and Compound Gear Drive.

Ruud PlaR WA 510 EGes PR sLefet €L

OR
Give laws of Static Friction.
RRs (353otall (Ao wuual.
Give Classification of Brakes.
As of ao(ls0l 5.
OR

Give causes and remedies of vibration.

Al 2otall 5100 wal Gutll el

Explain Crank and Slotted Lever type Quick Return Motion Mechanism.

3085 WA eSS 2lSU (5As el Holet AZEABH UL
OR

Explain Classification of Followers.
Slallalr of ca((s0L Al
Explain Prony Brake Dynamometre with neat sketch.

Well s stgsalilldle? 2269 vUts(A WA A Al
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Q.4

UAH. ¥

Q.5

(d)
(S)

(a)

(W)
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(b)

(A1)

(b)

(A1)

(c)

(5)

(a)

OR

Explain Hartnell Governor with neat diagram.

sléalc o ATR 2269 uLs(A AL UM A

Give advantages and disadvantages of Gear Drive.
(PlatR slefclall $lAEL A NFLAEL LU

OR

Explain flaps Mechanism.
SAU W30 UHst A

Draw cam profile to move the knife edge follower to give 60 mm lift with SHM.
During 120 of cam rotation & it dwells for 40 of cam rotation then I returns with
uniform velocity during 120 rotation & then follower remains in rest during
remaining period. The axis of follower passes through the axis of cam shaft.
Base circle diameter of the cam is 50mm.

As olles Ay ULl JARUR oll 31 WsITA £ FHL AAXR ol [Ase
so AM B. A ¥H oll 120° oll URAHERL dwd sH.M. Ul ol 52 B.
SIARAR 3H ol ¥0° URYHEL clrd RAR @ B. U IR Ul ol 1:0°
A HAN AL WEL 2 B. A oLl oll RUR UL ol AH2A HIRAR 3
8. SLARAR ofl ul 3 2use ofl wlmiell ulR & 8. 31 ol Aol cauld
wo M@ .

OR

Define Balancing and give its Classification.
AQ o0l ol cautuUL WA AR Agf (50 3.

Derive the Power and Torque for Flat Pivot Bearing considering uniform
wear theory.

Y[AS1 (AAR [A=2A3 A rautetui Av{lal sA2 Mcle AItell ULeR wa A&
of YL AR 5.

Explain Single plate Clutch with neat Diagram.
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UA. U

(A1)
(b)
(™)
(c)
(5)
(d)
(S)

R WAe s 209 vLs(A WA A AL

Draw Turning moment Diagram for I/C Engine and Steam Engine.

ALES AL WA RN ARt 112 2lelo0l HR o2 SLEAULH ENRL
Explain Elevator Mechanism.
AAA2R HI3osm umestal.

Explain Landing gear Mechanism.

AL PR HH(A U UMl

3k 3k %k 3k %k >k >k >k %k %k 3k %
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